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Exam Code : AADHI_34 Exam Date :02-06-2019

Version 161 Exam Time :09:00-10:30

Question No. 1
(a2) x (2a°%) x (4a”) a7 % fady FEM
A)4a*® B)8a*’
C)8a*? D)4a"

Find the product of (a2) x (2a22) x (4a23),

A)4a*® B)8a*’
C)8a22 D)4a*’
Answer Key : B Your Response : B (Correct)

Question No. 2

36 @A Q@ O a6 @EF A A IR T FE-

A) ST CIE B) QAGIE &7
C) 2T BI5T D) AAFANT TAg

The movement of water molecule from one cell to another depends on -

A)Wall pressure B)Turgor pressure
C)Plasma pressure D)Osmotic concentration
Answer Key : D Your Response : D (Correct)

Question No. 3
4 orx AR sTgES e T g3 Iz 88 T ©IST FAT AT
A)9944 B) 8894
C)9844 D)9768

Find the largest 4 digit number that is exactly divisible by 88.

A)9944 B)8894
C)9844 D)9768
Answer Key : A Your Response : D (Wrong)

Question No. 4

TG T FHA

36, 31, 29, 24, 22, (...)
A)13 B)16
C)H17 D)15

Complete the series.

36, 31, 29, 24, 22, (.




C)17 D)15

Answer Key : C Your Response : C (Correct)

Question No. 5
136 TAT 8T 15% WG fAOIT ITF 87TF 20% WNGH THF| 6 IFF FIT 447 FET|
A) 80 TIFT, 60 BIFT B) 70B1&T, 50 BT
C)40 TIFT, 20 GBI D)60 TIFT, 40 BIT

A discount of 15% on one article is the same as a discount of 20% on another article. Find the cost price
of the two articles.

A)Rs.80, Rs.60 B)Rs.70, Rs.50
C)Rs.40, Rs.20 D)Rs.60, Rs.40
Answer Key : A Your Response : A (Correct)

Question No. 6
a3f6 AT T@@ 'PEARL’ @A I¥ 'SHDUO' TIFIlI 8% W&@ 'COVET' FleNd @7 &7
A) FRXHV B) EQXHV
C)FNYDW D) FRYHW

If in a certain language 'PEARL' is coded as 'SHDUQ', how is 'COVET' coded in that language?

A)FRXHV B)EQXHV
C)FNYDW D)FRYHW
Answer Key : D Your Response : D (Correct)

Question No. 7
forafefie @& @eE sy Feafrmy 37
A) @IBTET B) a3
C ) (T D) @IS (G

With which of the following sports is the term 'Steeple chase' associated?

A)Rowing B)Boxing
C)Polo D)Horse racing
Answer Key : D Your Response : Not Answered

Question No. 8
100 G POOYT IFT AT 2 972 3 ToF MY T fFom@?
A)16 B) 13
C)17 D)14

How many natural numbers up to 100 are divisible by both 2 and 37?

A)16 B)13
C)17 D)14
Answer Key : A Your Response : A (Correct)

Question No. 9

Smfed SIS IUPAC a1 $?

A) FSofE e B)3TERF /NG
C) ENTAZS MG s e L e o T



What is the IUPAC name for acetic acid?

A)Butanoic acid B)Ethanoic acid
C)Propanoic acid D)Methanoic acid
Answer Key : B Your Response : B (Correct)

Question No. 10
fafie @& @7 2019 AXF MFIET T "SF6 IGF F-NFNH @ THT FEF?
A)fo B) 3
C) s D) SIsNfage

Which of the following countries has agreed to 'joint border reaction force' with Pakistan in 20197

A)China B)lran
C)Sri Lanka D)Afghanistan
Answer Key : B Your Response : Not Answered

Question No. 11
20 o Gfawm = x' & GfRem AFayena Yy w1 I GO 25% T AME OrRE x' 97 e fAsiEe
97
A)15 B) 25
C)16 D)18

The cost price of 20 tables is equal to the selling price of 'x' tables. If there is a profit of 25%, then what is
the value of 'x'?

A)15 B)25
C)16 D)18
Answer Key : C Your Response : B (Wrong)

Question No. 12

e form, o ofeffis @ qgrm oo sfehfiy @ Wafmmma a0 omrews

Ffofiig FE SeEEdl @ I8t omd SfedEg 6 HasfaE aam vor 5
FGREERK _
2
~d a4 |
3 6 5
A B
) 6 )
4
C) D)

Lo

=1




In the given figure, the circle represents male, triangle represents
Engineers, and rectangle represents Doctors. Which region represents
the persons who are Engineers and Doctors but not male?

o 2
~d 4
3 |6 5
A B
) 6 )
4
C) D) 9
T
Answer Key : D Your Response : D (Correct)
Question No. 13
G % AT ______ a7 e x8IF FEC
A) fraEe &t B)FHq TR IHRS
C)MeF amfe D)CO

Muscle fatigue occurs due to accumulation of -

A)Creatine phosphate B)Carbon dioxide
C)Lactic acid D)CO
Answer Key : C Your Response : C (Correct)

Question No. 14

BT ETS W36y ST 317

A) N ST B)GWAS AR
C)f2es SHPNGHR FTRTH D) fad

Which is the highest literary award of India?

A)Vyas Samman B)Jnanpith Award
C)Sahitya Akademi Award D)Kabir
Answer Key : B Your Response : B (Correct)

Question No. 15

e @t TEssy e af@be?
A) @G B) FITFAH
C) QIR D ) @5

Which of the following is known for tiger reserves?

A)Vettangudi B)Koonthankulam
C)Mudumalai D)Vedanthangal
Answer Key : C




S NG 216 fHR/F01 SFSEE 57| 30 (@@ 6 Fobl 477 IAfewd FAE?
A) 1200 f6F B) 1400 fIGE
c)1600 fGE D) 1800 RGE

A car is running at a speed of 216 km/hr. What distance will it cover in 30 seconds?

A)1200 m B)1400 m
C)1600 m D)1800 m
Answer Key : D Your Response : D (Correct)

Question No. 17
P A3k Q 97 IIY IYFE 50 IR 40 I=F| Fo I2F AT ©WF IICF e fod 3 : 22
A)5 F=F B)15 T=F
C)20 I=d D)10 dwd

Ages of P and Q are 50 and 40 respectively. How long ago was the ratio of their ages 3 : 2?

A)5 years B)15 years
C)20 years D)10 years
Answer Key : C Your Response : C (Correct)

Question No. 18
AABC a7 @9 C, 'p’ T C @ AB AT 85F TF| AB, BC, CA I INFW c, a, b, ORE-
A)pc = ab B)p? = ab/c
C)pa = bc D)pb = ac

AABC is right angled at C. 'p' is the perpendicular from C to AB; AB, BC, CA are c, a, b respectively, then:

A)pc = ab B)p? = abl/c
C)pa =bc D)pb = ac
Answer Key : A Your Response : B (Wrong)

Question No. 19

foafafie Fafbre Sty Ffamf @47 Fga

AZ, DW, GT, (...), MN
A)CY B)NO
C)RI D)JQ

Find the missing group of alphabets in the following series.

AZ, DW, GT, (...), MN

A)CY B)NO
C)RI D)MJQ
Answer Key : D Your Response : D (Correct)

Question No. 20

g3 3 : 5 _GEET| SRE_SIF_F(R @6 Fo B f&d?
Mre=—er, ,m;::,&mumﬁ T D) ]

30% &9 fJf® saF




After selling 30% of the fruits, a fruit seller had 140 fruits left. How many were there originally?

A)300 B)200
C)350 D)288
Answer Key : B Your Response : B (Correct)

Question No. 21
AT W @ TNANF R@Fe AT TI?
A)AL B) Mg
C)Ag D)Cu

Which of the chemical symbols is NOT correct?

A)AL B)Mg
C)Ag D)Cu
Answer Key : A Your Response : A (Correct)

Question No. 22

o =73 foalt = 39 Jwe JET Sad el
fam 1 ool ey @ug Toed vl et &)

TS CTATE GRE 087 (g ABF IS &dfm FFa1

A
) 700

C
) 46°

Study the following pie chart and answer the question given
below it.

The following pie chart represents the percentage distribution for
different sectors.

Agriculture
D Irrigation
D Energy

Industry

I] Transport

U Social services

Find the angle subtended at the centre of the circle by the

socialservices squEEEEEEEEEEEEEEEY |



C)

46° 58°

Answer Key : D Your Response : D (Correct)

Question No. 23
@EE qE T AwR?
AT f7F JFe fagE B)yma T
C)a i D) 2% f°r T3

What does a scalar quantity have?

A)Either direction or magnitude B)Only magnitude
C)Only direction D)Both magnitude and direction
Answer Key : B Your Response : B (Correct)

Question No. 24
aFfe f9MB @@ 'TWENTY' @37 ¥ 863985 TIET A% 'ELEVEN' 1T ¥ 323039 TETI 8% ©FF 'TWELVE'
FrONT G141 3@?
A) 863063 B) 863203
C) 863903 D) 863584

If in a certain code 'TWENTY" is written as 863985 and 'ELEVEN' is written as 323039, how will "'TWELVE'
be written in that code?

A)863063 B)863203
C)863903 D)863584
Answer Key : B Your Response : B (Correct)

Question No. 25
ST STNGTH [T S TSNPl F 77—
A) fFrar B) Iy
C)@H D) & e

The small blood vessels under our skin are called-

A)Veins B)Nerves
C)Cells D)Capillaries
Answer Key : D Your Response : A (Wrong)

Question No. 26

e Al o @t ofewal o fEma Fge

A) B)




Find the ODD one out from the given options.

A) B)

Answer Key : C Your Response : C (Correct)

Question No. 27

936 T W 5.5 B 972 77 3.75 fl 800 B ME afe FftE @@ wE @ tofd F9F ag9s AT

FEAI
A) 15550 BI=T B) 15600 BIFT
C) 16500 BT D) 15000 BIFT

The length of a room is 5.5 m and width is 3.75 m. Find the cost of paving the floor by slabs at the rate of
Rs.800 per m2.

A)Rs.15550 B)Rs.15600
C)Rs.16500 D)Rs.15000
Answer Key : C Your Response : C (Correct)

Question No. 28
FRISTEIEET Tl @ RS [AFoa6! T2 Q@ A§F AT ST 2SI SA, SAIHTT SRR ?
A)433 as9 B) 101955 Q&<
C)99942 ImTNfET D)21 Trerar

Astronomers have recently discovered evidence of abundant water-bearing minerals on the surface of
which near-Earth asteroid?

A)433 Eros B)101955 Bennu
C)99942 Apophis D)21 Lutetia
Answer Key : B Your Response : B (Correct)

Question No. 29

faafifie @@t o wSge Fae ITT0 ?
A) ST fafdar




Which of the following is used for dissolution of gold?

A)Aqua-regia B)Sodium hydroxide
C)Sulphuric acid D)Ammonium hydroxide
Answer Key : A Your Response : A (Correct)

Question No. 30
AP AT TYEF dfefe IR OF IR ACTHT 36° @A IZeEA IPRAT 447 T4
A)8 B)S
C)4 D)10

Each interior angle of a regular polygon is greater than its exterior angle by 36°. Find the number of sides

of the polygon.

A)8 B)S
Cy D)10
Answer Key : B Your Response : B (Correct)

Question No. 31
@ 9 TTNF ©F R TS [F&F TEAATF AW foq omd I 37~
A) STRCTIFTE B ) STIRCIGI
C) SNRCNEIT D) fSfFse

Atoms having the same mass number but different atomic numbers are known as-

A)lsobars B)lsotones
C)lsotopes D)Nucleons
Answer Key : A Your Response : A (Correct)

Question No. 32
2019 ST ISRO =T $S@ e EMISAT FMR® PSLV C-45 Fesfd ayen S¥ar fAfg?
A)2s B)28
c)23 D)40

ISRO Launched PSLV C-45 Carrying EMISAT with how many nano satellites in 20197

A)25 B)28
C)23 D)40
Answer Key : B Your Response : Not Answered

Question No. 33
ferEfeife @@ Ty afote o SITTT AT AH?
A) GTFIT B) ®PI
C) amfarer D)CTET a2 &V Tea2

Which of the following metals is/are found free in nature?

A)Gold B)Copper

C)Platinum D)Both gold and platinum
Answer Key : This Question is dropped and

Your Response : A
will not be consider during the evaluation
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A)I5oF @5 B)@%

C)IHH GIFN 99 @4 SoIR D) Il @I

The measurements from are taken for the spherical lenses according to sign conventions.
A)Optical centre B)Pole

C)Both principal focus and pole D)Principal focus

Answer Key : A Your Response : A (Correct)

Question No. 35

@ Tt GafRe TRFeE T[REF SYFeIE Tl FE?

’;{fE : Yj? ;o qItTe : ?
A) @Tare B)&®d
C)®EF D) SI6

Which word will best complete the relationship given below?

Cobbler : Awl :: Barber : ?

A)Spade B)Plough
C)Sword D)Scissors
Answer Key : D Your Response : D (Correct)

Question No. 36

1 1
BB 3B I M ety e

A) B)

Find the value of

1 1
B dBAb BB

A) B)




Answer Key : B Your Response : B (Correct)

Question No. 37

A

e RPgsfd Q@ FMeFALE e S

A)TRT B)BDB
c)asa D)HJH

Find the ODD one out from the given options.

A)TRT B)BDB
C)QsQ D)HJH
Answer Key : A Your Response : A (Correct)

Question No. 38

96 7 aFfC TIF ©Ae INVHW 20 IF% 24 @G T @F1 AF6 I 9 TH @@ gfe BifAw 3 sweme @6
AT IE @F IM 6 d9 9F@ QT AE ©F HEb ©de W9F @F 15 N6 5yEoa oogd Swel fady

FgAI
A)150 Sy B) 120  SKTET
C)108 SEIETT D)80 ST

Two pipes can fill a tank in 20 and 24 minutes respectively. There is an outlet in the tank that can empty it
at 3 gallons per minute. If all the pipes are opened, the tank gets filled in 15 minutes. Find the capacity of
the tank.

A)150 gallons B)120 gallons
C)108 gallons D)80 gallons
Answer Key : B Your Response : B (Correct)

Question No. 39
96 @ P AT Q 9@ 4P TNHAGE 4 THF ©f6 FA© MA@ I M ©IEF @ W ©EF Q, P ICH 6
5] @ T @F SAEEG A Fo TAF P AFT SOHNED SA© ANE?
A)6 FGI B)5 =Gl
C)7 =Bl D)8 bl

Two pipes P and Q together can fill a cistern in 4 hours. When opened separately, Q will take 6 hours
more than P to fill the cistern. In how much time can P alone fill the cistern?

A)6 hours B)5 hours
C)7 hours D)8 hours
Answer Key : A Your Response : A (Correct)

Question No. 40

JEfeemd T & ©F©ed BIC)E] 5 (Governor-General) fREa?

A) GIIFTET SISTw B) ¥ o smEwew
C)YWIF IACOR TG D) GeEEIfE

e

oot LA 1S, ot oy o



A)Maulana Azad B)B.R. Ambedkar
C)Sardar Vallabhbhai Patel D)C. Rajagopalachari

Answer Key : D Your Response : Not Answered

Question No. 41
FSfes T EfT Fow O ol F@?
A) [SEEE AT B) MAMfRs ©F
C) MAMAEF S D) R FyE

Mendeleev's periodic law is based on-

A)Number of neutrons B)Atomic mass
C)Atomic number D)Atomic radius
Answer Key : B Your Response : B (Correct)

Question No. 42
forsfiie @& aEs Sare JREse Jatse i 19t 37 SIET @F T8I IF?
A) ST ST B) SIS S7erfer
C)Ffa JEnfa D) &I e

Which of the following is the natural fuel formed deep under the Earth from the pre-historic remains of
living organisms like plants and animals?

A)Liquid fuels B)Gaseous fuels
C)Solid fuels D)Fossil fuels
Answer Key : D Your Response : D (Correct)

Question No. 43
TRy WfIyEs @ e sfm afi@ @ 36 Q@ 51 SIFRge?
A) el wiie B) AT SfFeEaE FwTeE dife
C)WaF e D) ¢liastel

Under which of the following Parts of the Indian Constitution were Article 36 to 51 listed?

A)Fundamental duties B)Directive principles of state policy
C)The Co-operative society D)The Municipalities
Answer Key : B Your Response : B (Correct)

Question No. 44
AFf6 ®ENeT THOT 'h' ©1F YT ARNT S| h' 97 N TP A% -
A) 3h? B)h?
C)2h/3 D)h?

Height 'h' of a cylinder equals the circumference of its base. Then, the curved surface area in terms of 'h’

is:

A)3h2 B)h?

C)2h/3 D)h2

Answer Key : D Your Response : D (Correct)

Question No. 45

e e A e e e e et st N



C)EDRIRL D)DCQHQK

If 'FRIEND' is coded as 'HUMJTK', how is '"CANDLE' coded?

A)ESJFME B)FYOBOC
C)EDRIRL D)DCQHQK
Answer Key : C Your Response : C (Correct)

Question No. 46
@A T @9 @ T 93 THET AENH g6 RETAANT, 93 O Afofo Jue FE?
A)FRS G B)W3 AT WIRFE @
C)¥g A1 g AFle @ D) 8% @

Which cells present in the retina are sensitive to bright and normal light, and gives colour sensation ?

A)BIlind cells B)Rods or rod shaped cells
C)Cones or cone shaped cells D)Bright cells
Answer Key : C Your Response : C (Correct)

Question No. 47

faaferfie o I9@ST TTFE MG awe @I Sod Ua|

L, M, N, O, P, Q, R 93 S (T @ WA @A IREF @ ¥ @ F0 @I @F=l N, L I R 97 TS
F 0, L 97 "TfIe! fFE S A7 WISl FWI P, S IF A{FTOl AR Q 97 TEGF @F ol M, Q 97 LIS
a9 0 AT T AF S|

faffems T & 0 97 IFMHT @@ Yoiy I @& MR?
A)P B)S
c)Q D)M

Read the following information carefully and answer the question given below.
L, M, N, O, P, Q, R and S are playing a game standing in a circle facing outwards. N is neither the
neighbour of L nor of R. O is the neighbour of L but not of S. P is the neighbour of S and is third to the

right of Q. M is the neighbour of Q and fourth to the left of O.

Who among the following stands third to the left of O?

AP B)S
C)Q D)M
Answer Key : B Your Response : Not Answered

Question No. 48
SET FF9 : sin 0/(1 - cos O)
A)cosec B + cot B B)tan O - sec B
C)tan O + sec O D)cosec B - cot O

Qirmnlifis eoin A1 _ ~ I e e ey S e e e I vy



C)tan 6 + sec 6 D)cosec 6 - cot 6

Answer Key : A Your Response : C (Wrong)

Question No. 49
i om R@EE 2 FfE afeafie TeTE 77 TRinE @ o1 F TR s eRTE WRE A g@ 0
1 sR@ srEEn 7 afefue Fe [FERieE TRET sifa@m?
A) 4 ffor B)3
c)2 ffar D)1 f&f

Priya rode her cycle 2 km westward and took right and rode another 1 km. Again she took left turn and

rode 1 km. How many kilometers has Priya rode towards westwards?

A)4 km B)3 km
C)2 km D)1 km
Answer Key : B Your Response : B (Correct)

Question No. 50

M I RSN AMAES TI2F TN W ORE W @ IE
A) T B) T4
C) FIET D)Wt

If iodine is added to a peeled potato, then it will turn-

A)Red B)Yellow
C)Black D)Blue
Answer Key : C Your Response : D (Wrong)

Question No. 51

gue A, e [RYfew sepEd s@ e framl @ fae Ifemme 9 T9EE STEend Iyad $E o 5IF
Fq

1. T BIG IE

2. STH T RCEI TN

I. P 9T AT AP

Il ST (NPT 2 =iy
A)RT f;i‘EhIG | 939 I _A, E B

el Y

@IT_EE I SEpTET "
4 o

~ g d A A L R s /



In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which
best fit(s) logically.

Statements:
1. All worms are mosquitoes.

2. All mosquitoes are birds.

Conclusions:
I. All mosquitoes are worms.

I. All worms are birds.

A)Either conclusion | or |l follows B)Only conclusion Il follows
C)Only conclusion | follows D)Both conclusions | and Il follow
Answer Key : B Your Response : B (Correct)

Question No. 52
96 I T TWMEHE 25% 9F% 50% Sereiel M@ Yo Q@ Fobl GF ST FAE 12 FoE [ T &9 8
THE ST REF 3 : 57
A)4 fitrE, 8 fabE B)6 f&eF 6 o
c)s fibm, 7 fiE D)3 fibE, 9 fibE

Two cans of milk contain 25% water and 50% water respectively. How much milk must be taken from the
two cans to get 12 litres of milk so that it will contain water and milk in the ratio 3 : 57

A)4 litres, 8 litres B)6 litres, 6 litres
C)5 litres, 7 litres D)3 litres, 9 litres
Answer Key : B Your Response : D (Wrong)

Question No. 53
Sed @ 1 & N3F7 FE?
A) HIRE B ) SRETT
C ) CoTIGT D) @I

Which tissue in a plant carries water?

A)Phylum B)Xylem
C)Stomata D)Chlorophyll
Answer Key : B Your Response : B (Correct)

Question No. 54
g semefy fias s@ mfre 23?
A)TeFT 14 B)™6 2
C)fet= 16 D)@ 2

When is 'World Wetlands Day' celebrated?

A)November 14 B)March 2
C)December 16 D)February 2
Answer Key : D Your Response : Not Answered

Question No. 55
S e s st e T e




c)fS® s=IERT D) NHIT GRIFRG

When sulphuric acid is poured over zinc, which of the following gases is formed?

A)Hydrogen B)Oxygen
C)Zinc dioxide D)Sulphur dioxide
Answer Key : A Your Response : A (Correct)

Question No. 56
@ A FmEaE [fFIm Sq@e e St I 91 SwWE -
A) T B) @St
C)frr s D)Y& arf

The matter that CANNOT be broken down by chemical reactions into simpler substances is known as-

A)Elements B)Compounds
C)Mixtures D)Pure substances
Answer Key : A Your Response : A (Correct)

Question No. 57

e walbre aepafre Fdamt (T g

gfe__ ig __ eii__fei__ df ii
A) eifgi B) ifgie
C)figie D) ifige

Find the missing group of alphabets in the following series.

gfe ig__eii fei gf i

A)eifgi B)ifgie
C)figie D)ifige
Answer Key : B Your Response : B (Correct)

Question No. 58
236 A @F [ FE, T 12 P Tea@ IBIE 77 TWE JE 10 RBibE 6 e a8 AEE SHvE gEF
12 o7 269, O IFfE @ 5 HoE 20l 949 ¢ JparsT @F FouE a® 4R @ 5F owe?
A) 5 faw 5 e B) 95X fo 15 o
C) Y o 27 fiom D) A% faie 10 RoE

Starting from a point, Raju walked 12 m north, he turned right and walked 10 m, he again turned right and
walked 12 m, then he turned left and walked 5 m. How far is he now and in which direction from the
starting point?

A)5 m towards east B)15 m towards east

C)27 m towards east D)10 m towards west

Answer Key : B Your Response : B (Correct)




T STy FEA

3, 2,7, 6, 11, (...)
A)a B)10
C)2 D)8

Complete the series.

3,2,7,6,11,(..)

A)4 B)10
C)2 D)8
Answer Key : B Your Response : B (Correct)

Question No. 60
36 EF FeE e @F MA@ 936 IRE 5 100 FR/FET @6 yRNE| T 88FaS orel FE® 75
/a6 @or aF F61 NF e nfere Ry WfES ENMEERSE FIEE eEmhod Sy 30 fafat 53 =
SRR e NS 120 fFRI/IET @ TSI FAT AR GEIFD FOHT NF HA TGER?
A)2 =Gl 45 TG B)3 ®ebl 40 B
C)2 =Gl 30 fafen D)5 =Bl 15 fifes

A thief escaped from the police and drove away in a bike at 100 km/h. The police immediately started
chasing at 75 km/h. After an hour, there was an engine problem in the police vehicle which took 30
minutes to set it right. Thereafter, the speed of the vehicle picked up to 120 km/h. After how much time
was the thief caught?

A)2 hours 45 minutes B)3 hours 40 minutes
C)2 hours 30 minutes D)5 hours 15 minutes
Answer Key : D Your Response : D (Correct)

Question No. 61

MATTRIE Fuod I @i ?
A) creaifesT B) =3frs
C ) CoAGTTT D) fofemnfersy

Which is the smallest muscle in the human body?

A)Pectoralis B)Heart
C)Stapedius D)Tibialis
Answer Key : C Your Response : C (Correct)

Question No. 62
236 @1 SIEAE B FAT REM A4 72 50T '@ TGIH NEIAT F© 7
A)3/8 B)1/4
C)3/16 D)5/16

A coin is tossed four times. What is the probability of getting 'head' in the first two tosses?
|l e T et L et o o= 1Y il

ANIQ



Answer Key : B Your Response : Not Answered

Question No. 63

@ 4t e FtE TAEE STYEeNE TS FE?

PRENEEE FJfeafe :: O @ ?
A) feafg B) ®i5mI
C)FETI D)FH

Which word will best complete the relationship given below?

Face : Expression :: Hand : ?

A)Painting B)Gesture
C)Handshake D)Work
Answer Key : B Your Response : D (Wrong)

Question No. 64
ATSHRANGT a7 FIIv-
A) SRAN B) e
C)RaF D) TSI

Poliomyelitis is caused by-

A)Virus B)Worms
C)Fungus D)Bacteria
Answer Key : A Your Response : A (Correct)

Question No. 65
faafefie @& 739 SEE SHHIIE A J?
A) @R CTST B) SR TSI
C) e fefe D) fésiy

Which of the following salts does NOT contain water of crystallisation?

A)Baking soda B)Washing soda
C)Blue vitriol D)Gypsum
Answer Key : A Your Response : A (Correct)

Question No. 66
I M A+, RONIEH, T AT -, a3 'K WA X, O, 20 R 16 K5 M 10 T 8 = ?
A)32 B) 36
C)20 D)12

If 'M' means '+', 'R' means '+', 'T' means '-', and 'K' means 'x', then, 20R16 K5M10T8 ="

A)32 B)36
C)20 D)12
Answer Key : C Your Response : C (Correct)

I e e e S e e e e o) N v/



A)18 T2 B)24 I2
C)20 d=d D)22 =4

A father is aged twice more than his son. The HCF of their ages is 22. What is the son's age?

A)18 years B)24 years
C)20 years D)22 years
Answer Key : D Your Response : D (Correct)

Question No. 68

AFf6 TAT IO 1R T A7 =5 Wit
A)sfe g 28T B) s SIFTH @ @@ A6 afere &
C)sife 2 =8AT D) T BT Figo 27

The inertia of an object tends to cause the object to-

A)lncrease its speed B)Resist any change in its state of motion
C)Decrease its speed D)Decelerate due to friction
Answer Key : B Your Response : B (Correct)

Question No. 69
@ Felids Od @F1IE 3?
A) QeI B) BT
C)s D)3y

Sucrose occurs naturally in-

A)Maize B)Rice
C)Wheat D)Sugarcane
Answer Key : D Your Response : D (Correct)

Question No. 70
7 97 @@ GRS JfAeFE 6, 9, 15 A3 18 AT ©IT FAC T 2T 47
A) 364 B) 274
C)94 D)184

Find the least multiple of 7 that leaves the remainder 4 when divided by 6, 9, 15 and 18.

A)364 B)274
C)94 D)184
Answer Key : A Your Response : A (Correct)

Question No. 71
a3f6 % @@ 'REPORT' @11 ¥ 'PRETOR' FIATl 8% W@(e 'PERSON' FeNI @ TE?
A) EOPNSR B) RSONPE
C)RPENSO D) NSREPO

In a certain code, 'REPORT' is written as 'PRETOR'. How is 'PERSON' written in that code?
A)EOPNSR B)RSONPE
C)RPENSO D)NSREPO
Answer Key : C

S D
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foafrfie @« amfe 4 73 efSe?
A) 10006 B) 10012
C)10002 D) 10010

Which of the following numbers is exactly divisible by 47?

A)10006 B)10012
C)10002 D)10010
Answer Key : B Your Response : B (Correct)

Question No. 73

SET Fl: 3.36-2.05+1.33
A) B)
2.61 2.64
C) D)
2.64 2.64
Simplify: 3.36-2.05+1.33
A) B)
2.61 2.64
C) D)
2.64 2.64
Answer Key : C Your Response : C (Correct)

Question No. 74
olFte e IHETa MW @En AT T SuRad?
A)©TFaT MY B) 3G Ay
C) (@M [Ty D) T Ff

Which of the following dams in India is an example for arch dam?

A)Bhakra Dam [ E e I et e i T -



Answer Key : B Your Response : Not Answered

Question No. 75
fFg i BFF 2 IRE 8% TF, bFJ(w AT FIT YA V@ THF 8 LIFT T CIFE AR Fo?
A) 1250 BIRT B) 1500 BIFI
C)2000 G&T D) 1000 BIT

The difference between Compound Interest and Simple Interest in 2 years on a certain sum is Rs.8 at 8%
rate. What is the sum?

A)Rs.1250 B)Rs.1500
C)Rs.2000 D)Rs.1000
Answer Key : A Your Response : A (Correct)

Question No. 76

ST -3 TN amied (a1 T @b ?
A) ST SYefy B) &
C) = % D)QEF (O

Which of the following is the best source of Omega-3 fatty acids?

A)Wheat products B)Sardines
C)Spinach D)Corn oil
Answer Key : B Your Response : B (Correct)

Question No. 77

240 a7 A TSR afefafie oy Fga?
A)2 x 2 x 2 x 2 x 3 x5 B)2 x 2 x 3 x 3 x5
C)2 x 2 x 2 x 3 x5 D)2 x 2 x 2 x 2 x5

Find the representation of prime factors of 240.

A)2x2x2%x2x3x5 B)2x2x3x3x5
C)2x2%x2x3x5 D)2x2x2x2x%x5
Answer Key : A Your Response : A (Correct)

Question No. 78
[P SAfee JAYEE 10% YOF A, TS ST SHE 0 AT GG SISy WA o MET A4S
124.05 B9l JEHAG Fo?
A) 8000 BIFT B) 10000 BT
C)8200 &I D) 8400 BIFT

The difference between Compound Interest, compounded half-yearly and Simple Interest for two years on
a certain sum at 10% rate is Rs.124.05. Find the sum.

A)Rs.8000 B)Rs.10000
C)Rs.8200 D)Rs.8400
Answer Key : A Your Response : A (Correct)

Question No. 79
T[T MWEET I 9F I AFEF F-TF40 A@ oW I 73~
A) TR ( Alkynes )
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The unsaturated hydrocarbons which contain one or more double bonds are called-

A)Alkynes B)Alkanes
C)Alkenes D)Alkali
Answer Key : C Your Response : C (Correct)

Question No. 80

o STy FEA

165, 275, 15, 25, 3, (...)
A)8 B) 11
C)12 D)5

Complete the series.

165, 275, 15, 25, 3, (...)

A)8 B)11
C)12 D)5
Answer Key : D Your Response : D (Correct)

Question No. 81

I P @RIT -, 'Q @RNT '+, RO @RIT X AT W @R0T '+, OIRET 48 Q 12 R 10 P 8 W 47
A)28 B)36
C)32 D)40

If 'P' denotes '-', 'Q' denotes '+', 'R' denotes 'x' and 'W' denotes '+', then 48 Q12 R 10 P 8 W 47

A)28 B)36
C)32 D)40
Answer Key : B Your Response : B (Correct)

Question No. 82
AP TFE 37 [HT 0 A FE IR, OFTH 6 CEAE I A 24T (@ GF g FE AqMR?
A) T B) Sed
C) wfEer D)Tex I&

One day morning, Priya was walking towards sun and took four times left turn. Which direction is she

facing now?

A)East B)North

C)South D)North east

Answer Key : A Your Response : A (Correct)

Question No. 83
BRICS I(afes S FE JTHH T0IT FH-
A)EXIM [F B) IDBI
C)SEBI D ) NABARD

BRICS Economic Re 3
O S o e e DRl e G



Answer Key : A Your Response : Not Answered

Question No. 84
3t faos wIgfe fFewm a3 o fagEe feaflt I3 8, 15, 17 9359, 993 THOl 20 IFF| AT SATOCIH
@Fa%T -
A) 960 B) 940
C) 1020 D)920

A triangular prism has a triangle base with sides 8, 15, 17 units and height 20 units. Its total surface area

is:

A)960 B)940

C)1020 D)920

Answer Key : D Your Response : Not Answered

Question No. 85

@ Tl faafe T=RhE TaeE SYFend T FE?

e : TSR i T : ?
A) @I B) I
C)wrfdfee D)faga

Which word will best complete the relationship given below?

Mountain : Valley :: Enemy : ?

A)Country B)Friend
C)Stranger D)Cruel
Answer Key : B Your Response : B (Correct)

Question No. 86
T eI [T R P, T W @I FE RAT FASE 5ATNT FE GF @ OF% ONE @ (FOTT
AT AF?
A) G B) @OH B
C) =T 5 D) SfiepasIy w5

Since sound wave is a disturbance, which moves in the medium by setting the neighbouring particles into
motion, they are categorised in which wave category?

A)Microwaves B)Radio waves
C)Mechanical waves D)Electromagnetic waves
Answer Key : C Your Response : C (Correct)

Question No. 87
X, Y A7 AEF IO FE 1/6 ©FT W@ IM AT aF@ %6 FS 10 g (W FE OE@ Y 9FT IS FAC
FoluE PG (F FF0?
A)40 foF B)30 faa
c)24 T D)35 fua
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A)40 days B)30 days

C)24 days D)35 days

Answer Key : A Your Response : Not Answered
Question No. 88

N $gAs (2/3) + (5/6) - (1/9) + (7/9)

A)13/6 B)17/9

C)35/18 D)43/18

Simplify: (2/3) + (5/6) - (1/9) + (7/9)

A)13/6 B)17/9
C)35/18 D)43/18
Answer Key : A Your Response : A (Correct)

Question No. 89
@ e FHATS @AY CTREAE JE ST- Ty fRiera ?
AYE 51 1 B) & P
C) oo fAziEr IRt D)IR @ SOETT

Which former Indian Prime Minister was Deputy Prime Minister under Morarji Desai?

A)V.P. Singh B)Charan Singh
C)Atal Bihari Vajpayee D)l. K. Gujral
Answer Key : B Your Response : Not Answered

Question No. 90

e fFEe @@ @b Sfewd e@ FEmT Fa|

A) B)

Findthe ODD one out from the given options.




Answer Key : B Your Response : B (Correct)

Question No. 91

faaferiie e Fq@ST TRHPE NG 98 @ Ted v

feod N5 A, B, C, D, E, F A3 G, AfirIe o7 Gr@ afefaw s@- spiw, fba, @@, m@, atm,
SfEAT 4T S| AONF o @FMH SRTIRT FER- ©fad, fomgwrEl, LA, G, AOm, ST a7
FoI91 ©F A3 FAPNE E 479 93| ¢ foawdie foma sfefafi @ D snfas afsffy e sfEa a
IOFEIEE & ¥ @ S ey o7 qogrm T @@ E IEeIEF O I @ 7 @RI TJ A
SIAEGAE AFEIE afefald| @ TP afefd o7 GHNeT aR7azd FE®I F @RI A ST FNAEL Afofeiay
FE AN G IMEEIT @ T @F|

faafrfiems T & SrEs Sfefafs?
A)B B)F
C)C D)G

Read the following information carefully and answer the question given below.

Seven members A, B, C, D, E, F and G represent different countries in Olympics are Germany, China,
Korea, France, Russia, Austria and Japan; each one competes for a different sport, viz. volleyball,
archery, basketball, tennis, boxing, athletics and football. The order of persons, countries and games is
not necessarily the same.

C represents China for archery. D represents Germany but not for volleyball or basketball. One who
represents Japan competes for boxing. E competes for volleyball but not Korea. A represents Austria for
athletics. The one who represents Russia competes for tennis. F does not represent Korea or Japan. G
competes for basketball.

Who among the following represents Japan?

A)B B)F
C)C D)G
Answer Key : A Your Response : Not Answered

Question No. 92
FIFSEE FAIST T [Fesfre JAemes 7§12
A) St B) SIPTeTIfer
C) = D)VIBGYOR

What is the colour of sunlight when scattered by the air molecules in the atmosphere?
A)White B)Blue
C)Red
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Question No. 93

AT IT OImg 72 ©F RAGT 999 @ A FE@RA?
A)15 affe B)13 afs&
c)16 afie D)18 aff

When did Himachal Pradesh celebrate its 72nd Himachal Day?

A)15 April B)13 April
C)16 April D)18 April
Answer Key : A Your Response : Not Answered

Question No. 94

Pt @ay g oW IASH Taw @F &2

A) ST ST B) fBely g
C) TR AT D)go I

In cricket, who decides a dismissal on the basis of the replay?

A)5th umpire B)2nd umpire
C)4th umpire D)3rd umpire
Answer Key : D Your Response : D (Correct)

Question No. 95

9% AegE W, S [{gfe ot e a| sEysd F9 TWml frEm () 5F FEd 1 JeYwed e

E@ CH
X @7 @@ I @ ANSAT AT ©WE [ARF FAT I INIM, 9F2 ©F AT AT GET @ T AfFee 27,
TR~ AP HBoE [FeHe|

fraT:

X 60T TEmE [{0s 7| 4T F9

I @1 X A IO S WA AAEFIT SIfTeT 731

A) T SRR | SeEaT & B)I 9% Il ToF fm/ oIy«
C)Ea a1l Sepiae & D)FT&® | T 1l @GR ST FEAl

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statement:
Men from country 'X' eat more and exercise less than they used to, and more and more of them are
turning obese", says-a fithess expert.

Conclusions:
I. The metabolism rate of men in country 'X" is very low.
Il. Exercising is not on the priority list for men in country X.

A)Only conclusion | follows B)Both conclusions | and Il follow
C)Only conclusion Il follows D)Neither conclusion | nor Il follows
Answer Key : C Your Res/n.ogs,e > : C (Correct)
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e e T=RzE FA7 MRS 955 F?
AT (J) B)® (V)
C)8IH (W) D) fFETI8AG =BT (kWh )

What is the commercial unit of electrical energy consumed?

A)Joule (J) B)Volt (V)
C)Watt (W) D)Kilowatt hour (kWh)
Answer Key : D Your Response : D (Correct)

Question No. 97
THANT FOT T AM=?
A)30 B)36
C)26 D)20

How many islands are there in Lakshadweep?

A)30 B)36
C)26 D)20
Answer Key : B Your Response : Not Answered

Question No. 98
FI6 ©BI A ACIIFE Fo3 T3TF FET @ TEH-
O ECEIRIEN B) NS
C)10kHz 98 FWFIR T4 D) PIANaF AFFFHe T T Sex[e O

Shattering of glass and damage to buildings can be caused by-

A)Infrasound B)Subsonic sound
C)Sound at about 10kHz D)Shock waves produced by supersonic aircraft
Answer Key : D Your Response : D (Correct)

Question No. 99
TFF @ TAEA @G S @FEG?
A) 25 Tm B)T® TS
C)fFearT =1%o D) 7|

Which is the smallest bone in the human body?

A)Hip bone B)Fore arm bone
C)Stirrup bone D)Rib
Answer Key : C Your Response : C (Correct)

Question No. 100
M T EF6 TIE FA T ©ORE 5T @IS HF?

A) LT B) STl
CITR D ) 2T

If lubricants are used in machine parts, how does the movement become?
A)Smooth B)Uneven
C)Difficult
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